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7401x, + 0.689x, +5398x; + 0412x, + 9.601x5 = 0621

1452x, + 1510x, + 3.744x; + 4.663x, +2.603x5 = —1352
9.602x, +5011x, + 8812x; + 7.988x, + 7.698x5 = —1.658
2119x, + 1061x, + 9.579x; + 8418x, + 0.099x5 = —0.049
2.058x, + 1579x, + 8.049x; + 8.151x, + 2.898x5 = —0229
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void svdcmp(float **a, int m, int n, float w[], float **v)
Given a matrix a[l...m][1...n], this routine computes its singular value decomposition, A=U-W-VT. The

matrix U replaces a on output. The diagonal matrix of singular values W is output as a vector w[1...n].
The matrix V (not the transpose VT is output as v[1...n][1...n].
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void svbksb(float **u, float w[], float **v, int m, int n, float b[], float x[])

Solves A-X=B for a vector X, where A is specified by the arrays u[l...m][1...n], w[l...n],
v[1...n][1...n] as returned by svdcmp. m and n are the dimensions of a, and will be equal for square
matrices. b[1...n] is the input right-hand side. x[1...n] is the output solution vector. No input quantities
are destroyed, so the routine may be called sequentially with different b’s.
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7.401x, +0.689x, +5.398x, +0.412x, +9.601x; = 0.621

1.452x, +1.510x, +3.744x, +4.663x, +2.603x; = —1.352
9.602x, +5.011x, +8.812x, +7.988x, +7.698x, = —1.658
2.119x, +1.061x, +9.579x, +8.418x, +0.099x, = —0.049
2.118x, +1.060x, +9.578x, +8.417x, +0.098x, = —0.229
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